INST-SPG-ARC

Thank you for purchasing our Arca Spigot Mount! We hope that you enjoy using it.

Arca Spigot Mount

for W-3/X-Ray/Bravo

Contents of Package:

- Spigot Mount

- Baggie with following contents:

- bea M4 x 14mm Socket Head Screw (4 for mounting, 2 for Llimiting rotation of Harris bipod if needed)
- 1ea Sling/Bipod Stud

- Tea M6 Washer for Stud

- 1ea M5 Nylon Washer for Stud

Installation Instructions:

Safety Warning: Before you attempt any installation, make
sure your rifle is unloaded. Also, before starting remove
the bolt and magazine from the rifle.

Step 1: Remove forend from stock.

Step 2: Place spigot mount into position and install the 4x M4 x 14mm mounting screws through the spigot mount
and into the threaded holes in the “backbone” of the chassis. Re-install forend; you are done.

l

Ll

2x M4 x 14mm &r@
@

4x M4 x 14mm Socket Head Screws
only to stabilize @
Harris Bipod Recommended torque spec: 15 in-lbs
\ @ ISYESY @ @ S S S K S

Spigot Mount hole descriptions:

FOR MOE L3 RAIL

| 1.584 =
FOR MOE L2 RAIL/
QD SLING PLATE [ 3X1.190  m
®) 8) O ALL THREADED HOLES THIS VIEW M5 METRIC
2N AT I
) W & U@ O
FOR DIRECT - )
HARRIS MOUNT, 2X.900 7y OO Q O
WIDE VERSION 9 Q O
O O
) ‘@1 ) m
Q Q @)
6-32 THREADS FOR IMUNS/NVMC KIT | 2 X M4 THREADS FOR SCREWS TO LIMIT HARRIS BIPOD ROTATION

www.KRG-0OPS.com Kinetic Research Group, LLC



